Name Date

Using and Understanding the Unit Circle - Matching Worksheet

Write the letter of the answer that matches the problem.

1. Letsin 6 =—%

. _ V3
Find the value of a given trigonometric ratio using sin @ = -2,
unit circles: tan 8 = V3
cosb =,tan 6 =
2. Letsin B = ks
. ¥ . o sec® = =
Find the value of a given trigonometric ratio using 183’
unit circles: csc O = >
secBb =,cscH =
3. Let cos B =- =
. 28 . . . . cos B = -0.65
Find the value of a given trigonometric ratio using
unit circles: tan 6 = -5
sin® =,tan 8 = T 24
7
4. Letcos 6 =- — 5
. 7 . . . . sec B = —,
Find the value of a given trigonometric ratio using 104
unit circles: cscO =3
secB =,cscHO =
5. Letsin 6 =- 16
_ 21 ) _ ) _ _ tan © _2V130
Find the value of a given trigonometric ratio using ang =——,
unit circles: sec O =- %
secBb =,cscH =
6. Let cos 6 =- 2l
, 31 : . o sec § = -=
Find the value of a given trigonometric ratio using 71;
unit circles: csc O = WS

tan ©® =, sec O =
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